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QUESTION 1

Which LABEL statement has correct syncytax? 

A. Label1 FName=\\' First Name\\' ; LName =; Last Name` ; 

B. Label1 FName=\\' First Name\\' LName =\\' Last Name` ; 

C. Label1 FName=\\' First Name\\' and LName =\\' Last Name` ; 

D. Label1 FName=\\' First Name\\' , LName =; Last Name` ; 

Correct Answer: D 

 

QUESTION 2

Which statement is true regarding variable names? 

A. Variable names are case sensitive. 

B. Variable names are from 1 to 32 characters in length. 

C. Variable names are optional when you create a data set 

D. Variable names can start with a number or an underscore 

Correct Answer: B 

 

QUESTION 3

When the following code is submitted, execution fails. 

Why does the execution fail? 

A. Multiple executable statements are not allowed in the DO block. 

B. The OUTPUT statement is not allowed in the DO block. 
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C. There are two unclosed DO block. 

D. The conditional logic expressions fail for the DO block 

Correct Answer: A 

 

 

QUESTION 4

Which statement is true when creating two SAS data sets with a DATA step? 

A. Name both data sets in the DATA statement 

B. Use an OUT= option in the WHERE statement to output the observations to the appropriate data sets. 

C. Use a PUT statement to output the observations to the appropriate data sets. 

D. Use a separate SET statement for each data set. 

Correct Answer: D 

 

QUESTION 5

Given the following code: 

Which variables are created with the BY statement? 

A. State. First and State. Last 

B. First. State and Last. State 

C. First_State and Last_State 

D. First. and Last. 

Correct Answer: C 
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